ASSEMBLY INSTRUCTIONS

bridge panel unbolt W;
\

Step 1

Q»wp panel

—bridge panel

—pillar post

HARDWARE LIST
A Long Bolt (95/16"*1-1/4") | 8pcs
B| O |Lock Washer (05/16") 8pcs
C Flat Washer (95/16"*@3/4")| 8pcs
D |= 1 | Allen Wrench (5mm) Ipc

1/2




Step 2

A Long Bolt (@5/6"*1-1/4") | 4pcs
B| O | Lock Washer (©5/16") 4pcs|
C Flat Washer (05/16"*@3/4")| 4pcs
D |7 | Allen Wrench (4mm) Ipc

A = | Long Bolt (05/16"*1-1/4") | 4pcs
B| O |Lock Washer (05/16") 4pcs|
C Flat Washer (05/16"*@3/4")| 4pcs
D |=/1 | Allen Wrench (5mm) Ipc

wC
=B
ffffff A
ffffff D

Step 3

OK

2/2




